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States!!! 

❖ To the sum of the first and last ordinate, twice
the sum of intermediate ordinates is added.
This total sum is multiplied by the common
distance. Half of this product is the required
area..
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Trapezoidal Rule
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❖ While applying the trapezoidal rule, boundaries 
between the ends of ordinates are assumed to be 
straight. Thus the areas enclosed between the 
base line and the irregular boundary line are 
considered as trapezoids.
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Trapezoidal Rule

❖ Let O1, O2, …..On=ordinate at equal intervals, 
❖ d= common distance between two ordinates
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Trapezoidal Rule
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Total area=d/2{ O1+2O2+2O3+…….+2On-1+On}



• State Average ordinate rule
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Trapezoidal Rule
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Problem

The following offsets were taken from a chain line to an 
irregular boundary line at an interval of 10 m:

0, 2.50, 3.50, 5.00, 4.60, 3.20, 0 m

Compute the area between the chain line, the irregular 
boundary line and the end of offsets by:

a) the average –ordinate rule
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Problem

Here d=10m

Required area

=10/2{0+0+2(2.50+3.50+5.00+4.60+3.20+)}

= 5*37.60=188 m2
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See You at Next Class!!!!
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